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B % f]Stata RDD4 %
O CCFT% 5 &94F & %7 RDD+ 441
O RI 7 X http://sites.google.com/site/rdpackages

= FARYStata RDDESSFIINRL

rdplot AR ENRETEIUSE
rdbwselect | #IEEDXEEEE: TR EFEHTHEEErdplotiEIne
rdrobust RODBERZINT AT
rdwdensity SEIEIVE R h vt Iﬁfﬁfgéﬂﬁﬁﬁﬁ@é\ﬁrdrobustiﬁ
rddensity MR ETERERIEEIEL
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Randomized Experiments from Non-random Selection in U.S. House Elections

Lee, David S 2005-08-08
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Name Label
state State ID
year Election Year
vote Democratic vote share in next election
margin Democratic margin of victory
class Senate class
Cummulative number of terms served in
termshouse
U.S. House by congress of record
Cummulative number of terms served in
termssenate
U.S. Senate by congress of record
win(B2eE&) y ey R gV
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B XIEIT, ﬂziﬁﬁxi%éﬁ%’i%@%zw win#g ¥ {8 A4

0.5396, R i
1914-2010F 49 7‘5*#\%}%

. sum vote win year

7 753.96%0i %, RO HT

Variable Min Max
vote 52.66627 18.12219 0 100

win .5395683 .4986113 0 1
1964.63 28.05466 1914 2010

year

14



RDDIZHEER: ZRT=5ET=XZR-BEM

B TS ELE T Al hay T
O ¥ 508 5N, RaTHERNZA

B BRI THERLTEMRETZMWXAR

g- eomecon
® 9
@ o0
%0 * ¢
8_
10_..1
S ® o
: ® °
ﬁ%— ° * H
& °
ﬁ& ¢ ° I |
@
91 & *°
H -
[ ’oo‘
Sk e
°
ol e o eemo oo

I I I
-100 -80 -60 -40 20 0 20 40 60 80 100
b3 F % H eV = margin
15



Gt

SXHR-BEN

RDDizHS:f: £ERTE=E50E

ttest vote, by (win)

Two—-sample t test with equal wvariances

Group Obs Mean Std. Err. Std. Devw. [95% Conf. Interwval]

0 595 40.92053 .4989536 12.17079 39.9406 41.90045

1 702 62.6217 .6147484 16.28793 61.41474 63.82867

combined 1,297 52.66627 .5032002 18.12219 51.67909 53.65344

diff -21.70118 .810499 -23.29121 -20.11114

diff = mean(0) - mean(l) t = -26.7751

Ho: diff = 0 degrees of freedom = 1295
Ha: diff < 0 Ha: diff !'= 0 Ha: diff > 0O

Pr(T < t) = 0.0000 Pr(|T| > |t]) = 0.0000 Pr(T > t) = 1.0000
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B ANASEETE&RTsmRRET XA
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Bo mRFEMESBHEBEARAALTERT = A EL
AL, BAE AT A ERINT R EFORERR, AEELL
BE &5

> X JE] 5 73‘/2*;—{

17



RDDiZH:H: GSRT=5ETEXR-BEN

B rdplot vote margin, nbins(10 10) binselect(es) c(1) p(4)
graph_options(legend(off) xtitle(“margin”) ytitle(“vote”)
ylabel(0(20)100,nogrid) subtitle(“{&-F 35 5% &, X A]%K=20")
legend(off))
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RDDiZH:H: GSRT=5ETEXR-BEN

rdplot vote margin, nbins(10 10) binselect(qs) c(1) p(4)
graph_options(legend(off) xtitle(’ margin”) ytitle("vote")
ylabel(0(20)100,nogrid) subtitle("# = -F 34 %] &, X Ia]%=20")
legend(off))
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rdplot vote margin, [£##nbins$ %] binselect(es) c(1) p(4)
graph_options(legend(off) xtitle("margin") ytitle("vote")
ylabel(0(20)100,nogrid) subtitle("{&-F ¥ %] %, X A& =IMSE

= X A] 2") legend (off))
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1islog(#EEE)RIEE M

McCrary |DCdensity

O 7% &2 (Cattaneo, Jansson and Ma) rddensity %t i £
AR
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RDDiz A SCf: 1S FRDDEY BT

. DCdensity margin, breakpoint(l) generate(Xj Yj r0 fhat se fhat)
Using default bin size calculation, bin size =|1.84133021
Using default bandwidth calculation, bandwidth|= 30.3968964

Discontinuity estimate (log difference in height) : |-.194383955
(.110478306)

200
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B 255X
O Rrer = £ 54 A KAE5 5 )2
i = o+ ap (i — €) + @iy (xi = O + 4y, (6 — OPrt +
Y, = a9+ a1 (x; — C) + ay,(x; — €)% + - + Crppigne (Xi — CYPTIE + v,
BIET A % X AW = 69 B IR
7 A A Ak B =4k B ) % i X ARSE- A AL B % X AR
O FLEAANFTAESHA— GINEMTZwin)
Y; = ap + 1T + ap (x; — C) + a, (x; — €)% + -+ + ay, (x; — C)F

+(ap — )T (x; — C) + (@ — )T (x; — €)% + -+ + (@ — ay)T(x; — C)F
+ ar,k+1T(xi - C)k+1 + et ar,k+wT(xl - C)k+w + €;

O AR F: AIC/2RXRE—FZ P68 (1-6k) %k
MR ER AL ﬂ/%gﬁﬁﬁﬂ

O R&: #ES, F £ 5 X350 X F A28 E B
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. gen

. gen

. gen

. gen

. gen

. gen

. gen

. gen

X1l = margin-0

X2 = X172
X3 = X1~3
X4 = X174
win X1 = Xl*win
win X2 = X2*win
win X3 = X3*win
win X4 = X4*win
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reg vote win X1 X2 X3 X4 win X1 win X2 win X3 win X4, cluster(class)

Linear regression Number of obs 1,297

F(l, 2)
Prob > F .
R-squared 0.5958
Eoot MSE 11.562
(Std. Err. adjusted for 3 clusters in class)

Eobust

vote Coef. s5td. Err. t B>t [95% Conf. Interval]
win 9.4070785 1.556146 6.05 0.026 2.71152 16.10263
X1 -.31181 .1971207 -1.58 0.255 -1.159952 .536332
X2 -.0371986 . 0072708 -5.12 0.036 -.0684824 -.0059147
X3 -.0007185 .0001245 -5.77 0.029 -.0012541 -.0001829
X4 -3.92e-06 7.32e-07 -5.35 0.033 -7.07e-06 -7.69%9e-07
win X1 . 3682319 .114532 3.22 0.085 -.1245594 .8610231
win X2 . 0456877 .0139022 3.29 0.081 -.0141285 .105504
win X3 . 0006644 .000093 7.15 0.019 . 0002644 .0010644
win X4 3.91e-06 1.37e-06 2.87 0.103 -1.96e-06 9.7%e-06
_cons 43.93729 1.71457 25.63 0.002 36.5601 51.31449
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LSRN
O /73 ez R Ral £ S ey Xk, %1% AKK S
;AN (e, —R/ZK %K)
O BEARKEE: BHRERED )
YVi=ap+ 1T+ apn(x; —C) + (apy — a)T(x; — C) + ¢
O ZHHEARETREF: ZNZAZBHE (triangular kernel
function) , AARIETET ZAAEK T o E
5w e — ALk R BT AR B HME-F ik 2 (MSE) ey & &&= 1
O &5 ( “B3p” 9l) ©&F
> R SEAR K, xjﬂﬁ KT AZIR B Ao BT FALR AR K,
T ZAR K W 5A% s, T REEAR Y, Hit s 28K
> a%@i)ﬂMSEﬂi’ﬁi WS, R
MSE (1) = Bias*(z) + Variance(t)
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rdrobust vote margin, c(l)

kernel (triangular) p(l) bwselect (mserd)

vce (cluster class)

Sharp RD estimates using local polynomial regression.

Cutoff c =1 Left of ¢ Right of ¢ Number of obs = 1297
BW type = mserd
Number of ohs 620 677 Kernel = Triangular
Eff. Number of cobs 426 363 VCE method = Cluster
Order est. (p) 1 1
Order hizs= (o) 2 2
BW est. (h) 22.778 22.778
BW bias (Db) 32.080 32.080
rho (h/b) 0.710 0.710
Number of clusters 3 3
Outcome: wvote. Running wvariable: margin.
Method Coef. 5td. Err. E>|z| [95% Conf. Intervall
Conventional 5.5807 1.7028 0.001 2.24328 8.918B05
Robust - - 0.009 1.25916 8.73803

Std. Err. adjusted

for clusters in class
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B 5L AKX E
O = Af&69 E1Z3 XA
> A3
95%Conf.Interval = (t — 1.96VVariance, T + 1.96VVariance)
> ERR AR R £ AR E 4F X 1]
95%Conf.Interval = [(f — Bias) — 1.96\/Variancebc, (T —
Bias) + 1.96,/Variancey,]
Bias: 5 i STt & 48 X 6915 HE R £

Variance,,.: robust bias-corrected 77 %
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rdrobust vote margin, c(l) kernel (triangular) p(l) bwselect (mserd) wvce(cluster class)

Sharp RD estimates using local polynomial regression.

Cutoff ¢ = 1 Left of ¢ Right of c Number of ochs = 1297
BW type = mserd
Number of obs 620 677 Kernel = Triangular
Eff. Number of obs 426 363 VCE method = Cluster
Order est. (p) 1 1
Order bias () 2 2
BW est. (h) 22.778 22.778
BW bias (b) 32.080 32.080
rho (h/b) 0.710 0.710
Number of clusters 3 3
Outcome: vote. Running wvariable: margin.
Method Coef. Std. Err. z P>|z| [95% Conf. Interwvall]
Conventional 5.5807 1.7028 3.2774 0.001 2.24328 8.91805
Robust - - 2.6198 0.009 1.25916 8.73903

std. Err. adjusted for clusters in class
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B ZXREESR
O FEELZAXNF WAL FETSZEANO LS
Y; = ap + 1T + a (x; — C) + ap,(x; — €)% + -+ ay, (x; — C)F
+(ars — a)T(x; — C) + (@ — ap)T(x; — €)% +
+ (@ — ay)T(x; — OF + ay 1 T(x; — O)FF 4 -
+ @y e T (x; — O + Z'B + ¢
MANERLTZE, WRERLZER, ZHER, WAL FET S
LRl T 4R T = Ay AL a9 Bk

O Z&AFER, PR ARz EEHHaed R T 8 A 5
T 0 Bk
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